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𝑌𝑂 𝑐𝑜𝑟𝑟 =
𝑌𝑂 ∙  𝑚𝑒𝑎𝑛(𝑌𝐴𝑟)

𝑌𝐴𝑟
  

 

 

 

𝑌𝑂 𝑠𝑢𝑏 = 𝑌𝑂 𝑐𝑜𝑟𝑟  −  𝑌𝑂 𝑏𝑙𝑎𝑛𝑘 
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200 ,0K

300 ,0K

400 ,0K

500 ,0K

600 ,0K

130 .54 130 .56 130 .58 1 30 .60 130 .62 130 .6 4 130 .66 130 .68

C oun ts  [c ps]
O 130.60 3

Lam bda  [nm ]

C a O 0 46 m glc ium  xa la te ( . )

A P C W Y 2 15 m g( . )

A P C ND 2 04 m g( . )

A P C IL 2 08 m g( . )

A P C W V 2 28 m g( . )

A P C PO C 2 14 m g( . )

A P C UT 2 12 m g( . )

A P C PIT T  2 13 m g( . )

A P C UF 2 11 m g( . )

N IS T  S R M  ( . )1632d 2 08 m g

G as B lank 
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ETV-ICP OES Oxygen analyzer
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